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5t _ 6t Grade
Regional Math Meet Tests
2019

- Individual Problems
- Event 1: Problem Solving (No Calculator)
- Event 2: Problem Solving (With Calculator)
- Event 3: Mathematical Reasoning
- Event 4: Mental Math

- Team Problems
- Event 5: Team Problems

- Tie Breaker Question



5th_gth grades 2019

Name: School Team:

Circle your final
answer!

Event 1: Computations Without Calculator- 20 points total —

Part I (2 points each)
Remember to simplify all fractions if able!

wic

2 .1_%.5_ 2,5,
1'23X14~’§x7§‘3>‘\’

2. 42 hours is what percent of one week?

Y hes ¥ ’T’Aajg =3 V6¥ hesia |k H2 X 25

1§ 100 " joo
y

1
3, 1.13%x24-3.067 = 2. 12~ 3,067 24y M

5. Ifx=2andy=35, find 3x — 4y

2 ()-4(s) = b-20-(1)



5th-gth grades 2019

Name: School Team:
Lircle your final
answerl
Event 1: Computations Without Calculator- 20 points total
Part II (2 points each)

Remember to simplify all fractions if able!

1. 112+ 23 = |2} +8=@

2. 114% of 29 HL\,ZC\:@O@
3. 0.261+0.03 ﬁ@




5t.gth grades 2019

Name: School Team:

Circle your final
answerl|
Event 2: Computations With Calculator- 25 points total

Consumer Math (5 points each)

1. 8 apples cost $2.96. Find the cost of 17 apples. i
07296+8= %0.27 |34 To.37=76.29
Cost pes afﬂgﬁ

2. Alfred went to the store and paid 42 cents tax on a $7.97 purchase. Find the tax rate that
he was charged to the nearest tenth of a percent.

Bag3, - 129700 x=1.0526
8702, =9 g 39

3. Roberta paid $2.65 for a package of tea. This price’included a 6% sales tax applied after
a coupon for 45 cents off was applied. Find the price of the tea without the tax. Round to
the nearest cent.

.06/ %-8.45) = 2.65 —
RN
X=2.9Y

4. Carlos can pay $47.98 for a carton containing 96 boxes of crayons. Each box of crayons
contains 48 individual crayons. Carlos can purchase smaller empty boxes for 3 cents
each. The empty boxes can each hold 16 crayons, and Carlos believes he can sell them
for 65 cents. If Carlos purchases 4 cartons along with the smaller boxes, repackages all
the crayous, sells everything, and earns $1.15 when he Eccgcles his cardboard waste, find

i . Round to the nearest cent. o Xk .
ginﬁzg;féi ‘I;(I)D‘Eglt (:.(ilrlos'c.asf‘[&r Crnyon$ # F48.50 + U115 - fia149e- 34,56
Ofp xH8 x4+ ‘lizs_”?Z;m B e tesel H _

- 1 15 of smalle boxes ™ 5E
b é?o?f nééz < 334,56 cot of srmall bores 52347
B0oups x 1522 ¥ FUEED income From selling

5. A car dealer purchases a car for $18,927.98. He marks up the price by 28%. Sam
purchases the car after negotiating a $500 trade-in discount and a 5.2% off deal, to be
applied after the discount. If salestax is 8.1%, find the amount Sam pays for the car to
the nearest cent.

l 18 (HIXQZ? N 3) = 394227 81 cost of car Orfﬂ-'/u\“j e

j] ¢ ‘.i'&'ﬁj.t‘in
By ypt, 81 - Vsous 323723, 51 akses t ! 2
0,245 113712.81)= ¥ 22493, 9 afeer Lo 24,315.9

.01 (Y224a3.96) = F24315,93



5.6 grades 2019

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circle your final
answerl
Part I: Algebra (7 points each) e

Remember to use labels when appropriate

1. Daria spent 2 of her money and gave % of the remainder to her mother. She then had $5

left. How much money did Daria have at first?

-1 T
s mont \_—L—L—l
DO\M@ ') J/ \l/ "ixﬁgs ﬁzo

m‘g 23 Vo o
llE,

2. Five shirts and two hardcover books cost $90. Each hardcover book costs twice as much
as each shirt. How rr}iuch money did each shirt cost?

Shiets E'} L jgﬁ% EQO%‘} . By
hhad cover bootis T

3. A pack of gum and a bottle of water cost $1.87 without tax. The bottle of water costs 43
cents less than the gum. Find the cost of 3 packs of gum and 5 water bottles without tax.

GUM Costs X
X+%X-0M43:)81% 3(I,ls)+50-l9-0#l3>=
Ax= 2,30 3_'15-&5(.?2):
X =115 345 +3,b =

F.0¥8

5705



516t grades 2019

Name: School Team:

Event 3; Mathematical Reasoning With Calculator- 35 peints total

Clrcle your final
answer!
Part IT: Algebra (7 points each) —

4. Angelica has collected pebbles from 3 states: Colorado, Kansas, and Missouri. She
collected 20 more pebbles in Kansas than she collected in Missouri. She collected 34
more pebbles in Colorado than she did in Missouri. If there are 75 total pebbles in her
collection, how many are from Missouri? :

Coea?raug.o I R 75-39-20=Al

79 L9
Kansas  ==r) 15 Al 3 2
m;xour{ a—— .

7\3 ZbH@b

5. Ernesto, Tara, Falisha, and Victoria ate lunch at a restaurant. Ernesto paid % of the bill,

Tara paid $2 less than % of the bill, Falisha paid $10.50, and Victoria paid the rest with a

twenty dollar bill, receiving some change. If the bill game a suggested 15% tip amount
of $7.50, find the amount of change received by Victoria.

Leb x be Yhe bill
3 ‘
0.15% = +.50 $ cnesto Pa'-of Mo
520 Tacs paid G’fow)fZ = Ho.so
Falisha paid ¥0.50
8o - 80 - Yo 5o ~Hms0=419

Vichria pud 19 ﬂl
PPPRI T



5%.6" grades 2019

Name: School Team:

Event 4: Mental Math (no calculator)- 20 points total

(2 points each)

ST (127 5) + (4x4)

y 269 24 xilth

y BT 26+15+5%X 3

\ I 5-3% (4-6)

o o5 FIND - 0F 507, 0F 290
5 106 ~51-97 |
. 4 G2 +¥x =193

, _ H095 3097+ 399

. 4 UK 3 +17

, 41 66 +2 %3

10) “D\\Q) @—MJXIQ




5.6t grades 2019

Name: School Team:

e ——

Circle your final e
answer| )
Event 5: Team Problems (with calculator)- 100 points total —"
Part 1: Problem Solving (5 points each)

a) How many ways can I make 50 cents using just dimes, nickels, and quarters?

S leMQS 3 q vai s —

Y dimes 2 aickeds | quaett S niclels m
b chmes G micHels j 3t voe Y aickels ) lime M
Adimes b nicke s Lquar
| dime ¢ nichiels

[0»\.‘(‘&6‘5’

Ley fnickel 2 (\am()

b) Inthe grid below, all dots are evenly spaced. How many rectangles can I make if all

four vertices must use a dot from the grid?
C ane ‘rtfj Gaey

@ d £ ] L}
L Eav) lJ_. angs
[ dwo By @ _
r L] w m ¥ .
9 one bu T
J

= & w s 'l Fw I’b Tl
l Fiwo "'J:j-%rt-c—

7 one Ii?rj ‘H'\ft?- \
;1 h’\ﬁ!i(‘, G‘ﬁm UI'I!\:) di‘\fﬂ'\ﬂh </ <>

¢) When a number is increased by 6, the result is a perfect square. When the ori ginal
number is decreased by 6, the result is the square root of the perfect square. Find the

original number. Fc'r\cl PQJ’ (\Qd{“ Square: gqpmm%ﬂ-! {:ﬁ)m its .S’q_uaue, fooY k.)j (2

1 x 66 ank 946 are 10

i !
4 3
6| 9

d) Consider the sequence: a, b, (i, do 11 235 8 13.. Find the values of a, b, c,
and d. A '

¢ ach er.rmﬁﬁ Sum ok
P @aiovs 2 Ferms



5th-6t grades 2019

Name: School Team: _

e e

Circle your firh
answer| s
Event 5: Team Problems (with calculator) =

Part 2: Measurement (6 points each)
2. Solve each of the following problems.

a) A ribbon is folded in half 5 times lengthwise, then measuring Scm long, How long is the
ribbon when it is unfolded?

B . 38452160
[T T T LT [711) -
t-'lz-'»\ léOCj

b) Find the angle made by the hands of an analog clock at 2:30.

/7(9() ’2 : 5() b weito emch man whes

-7 = .«.N\J o d "”"’"'0
30%27 187 e b 0 QOS
Ix% e 159 = 108

5
¢) The circles sho%vn below have the same center and have radii of 8in, 9in, and 10in. What
percent of the largest circle is shaded?

p&rw\ O TT( 0) = |00y
ﬁ(to\ M\thm o ”(O” iﬂ

Area seall 07 {8}
(Zble’é?L FRES ST SL\«Je_J‘O\((’_f«

d) 100 nickels are stacked up, making a tower that is 6.25in tall. To the nearest cent, find
the value of a stack of nickels that is 8ft tall.

%‘(:'i’; §x12in= OIC;{A {/;“* \
qe; é IVE V)- 35 Otuchls ot 100 picHels \\_ %6'30

1S.% x/oe = 15 36 nickels

56,05 xI5pp = #7660
e) Gemma is drawing a tudng]e She makes one side 601}1 Iong and another side 10cm long,

Fill in the blanks below.
i. The third side must be longer than' L" }cm

ii. The third side must be shorter than I C‘) | cm.

N
-~



5h.6™ grades 2019
Name: _ School Team:

Circle your final
answer{
\'\_____—_______‘__,_

™

Event 5: Team Problems (with calculator)
Part 3: Ratios (§ points each)
3. Solve each of the following problems.

a) Horatio, Igor, and Jack share $1800 in the ratio 1:2:6. How much more money would
Horatio receive if the ratio was 2:3:57 Higoo7 fo= Jiso

. m ‘
Horaks gﬁmm’ (T ‘(‘ S“‘(‘w ‘Z%BIZO: ﬂZéO j]léo

Tooc [ -
P T

Jiso0 +9=¥100
b) In a coin jar, the ratio of pennies to dimes is 3:5 and the ratio of dimes to quarters is
7:8. Find the ratio of pennies to dimes to quarters.

B340 I 200 7 Bis0

nnes "d_;"'-‘.{f; s :LLIJQ..!' ey /,T—H‘M“H‘
2.0¢ 28 2113540
235 3549

¢) Kelsey, Lena, and Maria share some money. Kelsey receives 25% of the money.
Lena and Maria shared the rest of the money in a 2:3 ratio. If Maria received $75

more than Lena, how much did Kelsey receive?
Kelses

] sz N335 -
= ey B NP T125

leon,  Mads

d) Jerome, Joe, and Peter shared some stamps in the ratio 2:3:5. Peter received 60 more
stamps than Jerome. Find the total number of stamps shared by the three boys.

Neome T ,  bo3:20
Ojoe. O St 0420 = 200
Ve tec D_-‘JIL]

Lot

(0

e) The ratio of Jan’s money to Roman’s money is 2:3. The ratio of Roman’s money to
June’s money is also 2:3. Find the ratio of Ian’s money to June’s money after Ian
gives one fourth of his money to Roman. _ ~
) £ ' June Tan + Roman | June
Ton Roman Namars » 201
AR 7 0 3 Y6 )9 b‘/.‘, {" o5 Tan"s
g pes o

Ty 69 | Roman




5.6t grades 2019

Name: School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)

Part 4: Number Theory (5 points each)
4. Solve each of the following problems.

a) A number is between 10 and 40. The number is a factor of 72 and a multiple of 8.
Find the number.

Ffwﬁﬂrscﬂe?2”2~3ﬁ63 -
?‘qu 24

. E B . [N,
If)o};ilalf —7 (J’\l:) ZL-} 1y G muLhﬁ’a ov &

b) How many whole numbers less than 50 are divisible by their ones digit?

123"!55?5"3“ 1z 1S A a2 24 25 31 32 32 35 36

Yy Yz HY 45 48 o
(@)

¢) Find three different positive numbers whose sum and product are equal.
) X Z X 3 - 6
|£243=2(

d) Find the smallest three-digit number that is 1 more than a multiple of 2, 2 more than a

multiple of 3, and it more than a multiple of 7.

e g e ____,_,--—F"_"_p_/

\/
§ceues least Frequently
[0S 5 mlsiple ot 7

oq X

11 X )3}
123 X
130 7%

17



5th.gth grades 2019

School Team:

Circle your finaf
answer!

Write all answers as a fraction. Remember to simplify!

Name:

TIE BREAKER

1. The spinner below is spun twice and the resulting sum of the numbers spun is found.

What is the probability that the sum is not divisible by 3?
o o @D i s ) i g
fry gy T @D g BTG

(1rL _ gl ,
1+ 3 @D 35 oy GEp 6
g vs @R ud 5
) 2+h 109 CUrd)
' SR T T
B F ) 1oL and 0? s sy X
(i led are {,‘;; ) i i_fi 3
(/C{ i;ﬂj"blﬁ CLE 12 L diubal 5
by 5 7 3 3 Bt
=

2. Two fair dice are rolled. Find the probability that the product of the numbers rolled is not
X ﬂc(\' wtls “DU‘ fect Sltuc\ ~

a perfect square. 3_&_:’_5_:_(’_
Sac I B ¢ | p
! R TG y
1% i 1 o e !
1’2 i Ii X ;____I‘!_ - —-; = 2 (\UJr
i B T A R ?f‘q
f

6 | & X
3. The letters of the wo;'d “February” are placed in a bag. If a letter is chosen at random,
what is the probability that it will be in the first half of the alphabet?
Fe \orumﬁj Y ”L
J / -l
/A g A

k



